
PROBLEMAS DE FÍSICA E QUÍMICA - 2ESO

MATERIA E MEDIDA

Problema 132: Realiza os seguintes cambios de unidades:

a) 15 m3 (a hm3) =
b) 5000 cm3 (a m3) =
c) 60 m3 ( a dm3) =
d) 4000000 m3 ( a km3) =

a) 15 m3 (a hm3) =

15m3=15m3 · 1dam
3

1000m3
·
1hm3

1000dam3
=0,000015hm3

b) 5000 cm3 (a m3) =

5000 cm3=5000 cm3 · 1dm3

1000cm3
·
1m3

1000dm3
=0,005m3

c) 60 m3 ( a dm3) =

60m3=60m3 · 1000dm
3

1m3
=60000dm3

d) 4000000 m3 ( a km3) =

4000000m3=4000000m3 · 1dam
3

1000m3
·
1hm3

1000dam3
·
1km3

1000hm3
=0,004 km3
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